N = 0l & AF & F Al A

SA: MHIELUAD

M MEMHUEATLIS (SHHSSA/AY - AE)

S RN E I SIETES (Etel: & e
o ) - o HAc
SNBSS - HRAY - BHES 0 & o4 e HIRZE2

AFRIHIELIA D 35,950,836 30,417,404 5,533,432

= 10,252,817
= 15,529,760
p 730,000
= 9,438,259
MEMHUSSYTAEL (SHHL /LY - HE) 35,830,404 30,346,672 5,533,732
= 10,252,817
= 15,529,760
p 730,000
= 9,367,827
WEELIPIEIESS 21,154,682 18,320,954 2,833,728
= 1,534,591
= 13,909,000
p 730,000
= 4,981,001
NEEY=MBIEY 18,081,500 15,576,600 2,504,900
= 13,909,000
= 4,172,500
403 X+ X EHH S XH2 0l & 18,081,500 15,576,600 2,504,900
= 13,909,000
= 4,172,500
01 RIS R BE 18,081,500 15,576,600 2,504,900
CIXIRERI X! 5 22l R 4 6, 120,000
= 4,708,000
= 1,412,000
CIXI XM S Al 2 X & 7,364,500
= 5,665,000
= 1,699,500
ONgs=21xs 130,000
= 100,000
= 30,000
CIXI o M X 4 3,193,000
= 2,456,000
= 737,000
OMSMHASMHREY 1,274,000
= 980,000
= 294,000
MATEABREY 150,000 100,000 50,000
403 Xt X B M S XH2 0 & 150,000 100,000 50,000
01 REXISHAI K2 & 5 150,000 100,000 50,000
AR B X4 150,000
MEY TS 611,000 383,500 227,500
= 470,000
= 141,000
403 XHXI EHHI S XH2 0 & 611,000 383,500 227,500
= 470,000
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SH: AEIEUAD
A MEMBUEYTAIL(SYHSSL/YY - AE)
SRl A EYIIBEY (e @
_ _ HE T
SAN-ZH-SA(FA) - NFAY - BES Off &F oK Ofl At ot HwsZ
308 XX EHHI S 01 & 10,000 0 10,000
01 XIS B A2 ES 10,000 0 10,000
mEEI=EY=F 1 PEpIETE 10,000
NEPEIPS=EY] 1,217,650 1,401,074 A 183,424
=2 1,014,591
= 203,059
308 X+XIE+HISO0I& 1,217,650 1,401,074 A 183,424
=2 1,014,591
= 203,059
01 XIS B A2 ES 1,217,650 1,401,074 183,424
& AHIAZ20] 1,217,650
= 1,014,591
= 203,059
=M S K 730,000 600,000 130,000
| 730,000
403 X+ X SRS KH 0] & 730,000 600,000 130,000
] 730,000
0f MXISHH =S E 730,000 600,000 130,000
O=MZAXY 730,000
| 730,000
AFSS M5 T A 4,356,988 3,437,543 919,445
= 1,500,000
=l 1,620,760
= 1,236,208
NEELCEEES 300,000 300,000 0
403 KX EHH S K20 & 300,000 300,000 0
01 MXISH RS E 300,000 300,000 0
ENEEEESIE ST 300,000
NYBYSHET 1,950,000 3,137,543 A1,187,543
= 1,500,000
= 450,000
403 REXIEHH S K2 0| & 1,950,000 3,137,543 A1,187,543
= 1,500,000
= 450,000
01 XHXISHRIXHZ 2 % 1,950,000 3,137,543 ~1,187,543
A MEH 2SR E SR T 4 1,950,000
= 1,500,000
= 450,000
£AUEYITPS 2,106,988 0 2,106,988
=l 1,620,760
= 486,228
403 Xt X SR S KH 0] & 2,106,988 0 2,106,988
3 1,620,760
= 486,228
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SH: AEIEUAD
HE: MYMHUEYBATS (SYHSEL/YY - 4E)
SRl NRME 2SS (el &2
_ _ _ N E
SN B SRA(SIH) - MBAY - BAS 04l &k 24 G HlnE2
BV 150,000
OHHSUSTHE S BHYEN R A AR 90,000
402 Q12 XH20| 300,000 0 300,000
01 AT =HE 300,000 0 300,000
(I8 S OH2H IRIDNIE EL AR S ALY 300,000
403 XX I S K20l & 540,000 0 540,000
01 RXISH =22 E 540,000 0 540,000
(I8 S OH2H Al SR MEH 2 R XHRI B E A ALY 300,000
[TAFXI K A4 EH 2 2 XHR B AFES 240,000
R EIPNENIE= TS 1,279,848 1,523,863 A244,015
= 1,134,042
= 145,806
403 Xt XI SRS XH2 0] & 1,279,848 1,523,863 A244,015
= 1,134,042
= 145,806
0f HXISHH RS E 1,279,848 1,523,863 A244,015
O SH2AS TR A 1,279,848
= 1,134,042
= 145,806
GEAMHETH 40,000 50,000 210,000
307 212+0I & 40,000 50,000 210,000
RIS 40,000 50,000 10,000
(U SAMBY %Y 40,000
O1ZI0IEIBHE AR MEH B R TR E & 390,000 490,000 A100,000
403 X+ X SR S XH 0] & 390,000 490,000 A100,000
01 XU =S E 390,000 490,000 £100,000
OM4SZEY 90,000
X oISH 0tExa 300,000
MBI QD AR E 1,518,000 1,518,550 550
= 1,293,000
= 225,000
403 X+XI EHHI S TH2 0] H 1,518,000 1,518,550 AB50
= 1,293,000
= 225,000
01 EISH 2L E 1,518,000 1,518,550 550
OMEEAZS0ISEY 1,518,000
= 1,293,000
= 225,000
NELEE! 5,044,278 3,630,911 1,413,367
= 4,469,576
= 574,702
403 X+ X EHRI S KH 0] & 5,044,278 3,630,911 1,413,367
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